Patterning - Use variables in simple algebraic expressions and equations to describe relationships

Lesson 2

f + s = 8
Find all the values of f and s that make this equation true.

	First Number, f
	Second Number, s

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


Make a graph to display the equation.
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What does  x + 4 = y  mean?

What are some values of x and y that make this equation true?

What do the words INPUT and OUTPUT mean?

Input is the number you put into the equation. And output is the answer you get.   There are lots of different inputs you can enter into any equation and you can get lots of different outputs.

e.g.    x + 2 = y


[image: image2]
What does   x – 2  = y  mean?

What are some values of x and y that make this equation true?

Make an input/output table for the equation.

	INPUT (x)
	OUTPUT  (y)

	
	

	
	

	
	

	
	

	
	


f + s = 10 
Find all the values of f and s that make this equation true.

	First Number, f
	Second Number, s

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


Make a graph to display the equation.
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What does   2 x  a = b  mean?

What are some values of a and b that make this equation true?

	INPUT (a)
	OUTPUT  (b)

	
	

	
	

	
	

	
	

	
	


Make an input/output table for the equation.

What does   m - 5 = n  mean?

What are some values of m and n that make this equation true?

	INPUT 
	OUTPUT  

	
	

	
	

	
	

	
	

	
	


Make an input/output table for the equation.

What does   2 x m  + 1 = n  mean?

	INPUT 
	OUTPUT  

	
	

	
	

	
	

	
	

	
	


What are some values of m and n that make this equation true?

Make an input/output table for the equation.
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